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WATER SUPPLY AND ENVIRONMENTAL SANITATIONPRIVATE 

                  RECITATION 5 —SOLUTIONS

                      DESIGN OF RESERVOIRS

TO COMPANSATE CONSUMPTION FLUCTUATIONS

The calculations are shown in the following table. The maximum difference between incoming volume and outgoing volume is seen at 08:00 which is 13%.That is why the cumulative incoming volume is increased by 13% to be the corrected cumulative incoming volume. The maximum water volume that is seen to be accumulating in the reservoir is appeared to be 39% which occurs at 18:00. Simply by multiplying by max.Qday;

max. Qday =  x mean qday x P = 1.5 x 150 x 100 000 x 10-3 = 22500 m3/day;

Vreservoir = 0.39 x 22500 = 8775 m3
.

	Time (o’clock)
	Cumulative Vout (%)
	Cumulative
Vin (%)
	Corrected Cumulative
V’in (%)
	V’in - Vout
(%)

	0
	0
	0
	13
	13

	1
	2
	0
	13
	11

	2
	3
	0
	13
	10

	3
	3.5
	0
	13
	9.5

	4
	4
	0
	13
	9

	5
	4.5
	0
	13
	8.5

	6
	7
	0
	13
	6

	7
	10
	0
	13
	3

	8
	13
	0
	13
	0

	9
	17
	10
	23
	6

	10
	23
	20
	33
	10

	11
	27
	30
	43
	16

	12
	34.5
	40
	53
	18.5

	13
	45.5
	50
	63
	17.5

	14
	54
	60
	73
	19

	15
	61
	70
	83
	22

	16
	66
	80
	93
	27

	17
	69
	90
	103
	34

	18
	74
	100
	113
	.         39         .

	19
	79
	100
	113
	34

	20
	84
	100
	113
	29

	21
	91
	100
	113
	22

	22
	96
	100
	113
	17

	23
	98
	100
	113
	15

	24
	100
	100
	113
	13


